
 

 

 
 
 
 
 
 
 
 


� 25 �� 
 


������������	������ 
 
 

��� ��� 
 



1 
 

NC� ld^3m  
F
Zc.@�X��NC AkBkCk�k�k� ?M[
)7j��� 

 

@ 1 

EPS�`YN�	+�%�!kn! 21=3x7�EPN \���,"�)�
� 

1000/21=47.62�	+ �k>_�EPN! 1k4k9k16k25k36 64�	+�'���

64 

 

@ 2  

H.BI�+�k �	+ �ka 5�()�k

�  1W.h+�1W GT!(1,-2) 

 

@ 3 

 

(�� 

   J�� A=1, B=1 

 

@ 4 

(1)� <QeA*�θAg�+a9!  

   (*

 
 

 

(2) 

k k  



2 
 

 

€ 

An

n=1

10

∑ = A + A2 + A3 + A4 + A5 + A6 + A7 + A8 + A9 + A10

= A + A2 + E + A + A2 + E + A + A2 + E + A = 3 A + A2 + E( ) + A

= 3O+ A =
0 − 1

2
0 − 3

2

0 +
3
2

0 − 1
2

$ 

% 

& 
& 
& & 

' 

( 

) 
) 
) ) 

=
−
1
2

−
3
2

3
2

−
1
2

$ 

% 

& 
& 
& & 

' 

( 

) 
) 
) ) 

= A

 

 

@ 5 

1W! � � \8�&���+X�kGT.6,R�+� 

� � �kU%+\8!  

 

 

@ 6 

a,b,c!�,�,  ON 

(1)  id!:;H  Qk��-� k  

   =*�+5! 1/4, 4/4, 9/4, 16/4, 25/4, 36/4 �	*k�,� �]�
��

(*kON�	+Kb�	+� 

J��   Q k  

          Q k k k  

 Q k  

20 5h*  J��  



3 
 

(2) 

2� d.�k���+� 

 

   k  

 (* 
�  #�! 
�  

 (* 
�  $�	�!#+� 

 

;d 

a,b,c > 0 �	+
)�ax2+c > 0 

/P�ax2+bx+c = 0 (*�ax2+c = -bx > 0 ��+ ��jL.V�� x!D�f���,

"�)�
� 

 

 

 


